

100-8 הוכחה למשפט הביניים

נתון f פונקציה רציפה בקטע $[a, b]$ ו- y מספר ממשי בין $f(a)$ ל- $f(b)$.
אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

הוכחה

אם $f(a) \leq y \leq f(b)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

אם $f(b) \leq y \leq f(a)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

אם $y < f(a)$ או $y > f(b)$ אז אין $x \in [a, b]$ כזה ש- $f(x) = y$.

אם $y = f(a)$ או $y = f(b)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

אם $f(a) < y < f(b)$ או $f(b) < y < f(a)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

אם $f(a) > y > f(b)$ או $f(b) > y > f(a)$ אז אין $x \in [a, b]$ כזה ש- $f(x) = y$.

$$f(x) = \sup_{x \in A} f(x)$$

אם $f(a) \leq y \leq f(b)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

$$f(x) = \sup_{x \in A} f(x)$$

$$x_0 = \sup_{x \in A} f(x) = \sup \{x_n : n \in \mathbb{N}\} = \sup \{x_n : n \in \mathbb{N}\} = x_0$$

אם $x_0 \in [a, b]$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

אם $x_0 < a$ או $x_0 > b$ אז אין $x \in [a, b]$ כזה ש- $f(x) = y$.

$$f(x) = x_0 = \sup \{x_n : n \in \mathbb{N}\} = x_0$$

$$f(x) = x_0$$

אם $x_0 \in [a, b]$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

$$f(x) = x_0 = \sup \{x_n : n \in \mathbb{N}\} = x_0$$

$$f(x) = x_0$$

אם $f(a) \leq y \leq f(b)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

$$g(x) = \sup_{x \in A} f(x)$$

$$g(x) = \sup_{x \in A} f(x)$$

אם $f(a) \leq y \leq f(b)$ אז קיים $x \in [a, b]$ כזה ש- $f(x) = y$.

$$f(x) = \sup_{x \in A} f(x) = x_0$$

$$g: (f(P) \rightarrow) \alpha \cdot P \quad \text{1/2/2}$$

1/2/2

$$g(x) = (0, f(x)) \quad \text{1/2/2}$$

$$(x, y) \in \alpha \cdot P \quad \text{1/2/2}$$

$$y^{-1} \in P, \quad \text{1/2/2} \quad \text{1/2/2}$$

$$(x, y) < (0, y^{-1}) \quad \text{1/2/2}$$

$$f(x) \geq y^{-1} \quad \text{1/2/2} \quad x \in f(P) \quad \text{1/2/2}$$

$$g(x) = (0, f(x)) \geq (0, y^{-1}) > (x, y) \quad \text{1/2/2}$$

$$f(\alpha \cdot P) \subseteq f(P) \quad \text{1/2/2}$$

$$f(\alpha \cdot P) = f(P) \quad \text{1/2/2}$$

$$P = \gamma^{-1} \quad \text{1/2/2} \quad \gamma \in \text{1/2/2} \quad \gamma \in P \quad \text{1/2/2}$$

$$\alpha \cdot P = \alpha \cdot (\gamma^{-1}) = \alpha \cdot \gamma^{-1} = \alpha$$

$$\text{1/2/2} \quad f(\alpha \cdot P) = f(\alpha \cdot \gamma^{-1}) = f(\alpha) \quad \text{1/2/2} \quad \text{1/2/2}$$